
EAST POINT SCHOOL 

CLASS-VII 
ONLINE CLASSES WORK PLAN (JANUARY WEEK-4) 

ENGLISH 

UNIT-5 

SECTION-2 

TOO MANY PROFESSORS 

BY NORMAN HUNTER 

The extract is taken from the Incredible Adventure of Professor Branestawn by Norman Hunter. 

The story is about an absent –minded professor and his inventions, which land him, his 

housekepperMrsFlittersnoop and sometimes his best friend, Colonel Dedshott, in trouble. 

GLOSSARY: 

1) Cannoned: rushed into 

2) Wobbly: shaky 

3) Pagwell: the town where the great professor lived 

4) Larder:a cupboard used for storing food 

5) Awkward: clumsy 

 



 
 

 

 

 



 

 

 

 

 

On the basis of your reading of the story, tick the most suitable option: (1x3=3) 

1) The second thing that the Professor Branestawm brings to life is 

_____________________________. 

a) A cat 

b) Apples 

c) Chocolates 

d) An elephant 

 

2) The confusion at the end of the story clears when 

________________________________. 

a) All the photographs are burned 

b) The magic liquid dries up 

c) Mrs. Flittersnoop comes back 

d) Professor Branestawm’s book gets published 

3) The second thing that Professor Branestawn brings to life  

is:______________________. 

a) A cat 



b) Apples 

c) Chocolates 

d) An elephant 

4) What started the confusion in the Professor’s house? 

5) What was the one regret that the Professor had about his invention? 

6) Think about one word each to describe Professor Branestawm, MrsFlittersnoop and 

Colonel Dedshott. Give reasons for choosing the words. 

7) The writer calls professor Branestawm’s laboratory his inventory. Check the dictionary to 

see what the word ‘inventory’ means and then explain why the writer calls the laboratory 

an ‘inventory’? 

 

ACTIVITY: 

If you had a small bottle of Professor Branestawm’s magic liquid, which one photograph 

would you like to bring to life? Give reasons for your choice. 

 

 

HINDI 

पुनरावतृिअभ्यासकायय 

VIDEO LINKS:- 

https://www.youtube.com/watch?v=WXDvYKHn4xk 

अधिगमब िंद ु

विद्यार्थीअपठितगद्याांशकोसीखपाएांगे।  

विद्यार्थीबहुिैकल्पपकप्रश्नोंकेउत्तरदेसकें गे। 

अपठििगदयािंशकोपढ़करनीचेठदएगएप्रश्नोकेउत्तरदीजिए 

आगाखााँमहलमेंखाने-पीनेकीकोईतकलीफनहीांर्थी। हिाकीदृल्टिसेभीस्र्थानअच्छार्था। 
महात्माजीकासार्थभीर्था। ककां तुकस्तूरबाकेललएयहविचारहीअसह्यहुआकक ‘मैंकैदमेंहूाँ।’ 
उन्होंनेकईबारकहा-“मुझेयहााँकािैभिकतईनहीांचाठहए, 
मुझेतोसेिाग्रामकीकुठियाहीपसांदहै।”सरकारनेउनकेशरीरकोकैदरखाककां तुउनकीआत्माकोिहकैदसहननहीांहु
ई। 
ल्जसप्रकारवपांजडेकापक्षीप्राणोंकात्यागकरकेबांधनमुक्तहोजाताहैउसीप्रकारकस्तूरबानेसरकारकीकैदमेंअप

https://www.youtube.com/watch?v=WXDvYKHn4xk


नाशरीरछोडाऔरिहस्ितांत्रहुईं। 
उनकेइसमूकककां तुतेजस्िीबललदानकेकारणअांग्रेजीसाम्राज्यकीनीांिढीलीहुईऔरठहांदसु्तानपरउनकीहुकूमत
कमजोरहुई। 

कस्तूरबानेअपनीकृतततनटिाकेद्िारायहठदखाठदयाककशुद्धऔररोचकसाठहत्यकेपहाडोंकीअपेक्षाकृततकाएक
कणअधधकमूपयिानऔरआबदारहोताहै। शब्दशास्त्रमेंजोलोगतनपुणहोतेहैं, उनकोकततव्य-
अकततव्यकीहमेशाहीविधचककत्साकरनीपडतीहै। कृतततनल्टिलोगोंकोऐसीदवुिधाकभीपरेशाननहीांकरपाती। 
कस्तूरबाकेसामनेउनकाकततव्यककसीदीयेकेसमानस्पटिर्था। कभीकोईचचातशुरूहोजातीतब 
‘मुझसेयहीहोगा’ और ‘यहनहीांहोगा’-इनदोिाक्योंमेंअपनाहीफैसलासुनादेतीां। 

प्रश्नः 1. सुविधाओांकेबीचभीकैदीहोनेकाविचारककससेनहीांसहाजारहार्था? 
 

प्रश्नः 2. िेअपनीस्पटििाठदताककसतरहप्रकिकरदेतीर्थीां? 

प्रश्नः 3.आगाखााँमहलमेंक्यासुविधाएाँर्थीां, परइनकेबजायकैदीकोक्यापसांदर्था? 

प्रश्नः 4.िहककसतरहअांग्रजेोंकीकैदसेमुक्तहुई ?उनकीमुल्क्तकाअांग्रेजीशासनपरक्याअसरपडा? 

प्रश्नः 5.कृतततनटिऔरशब्दशास्त्रमेंतनपुणलोगोंमेंअांतरगद्याांशकेआधारपरस्पटिकील्जए। 

MCQ 
1. ‘खानपानकीबदलतीतसिीर’ नामकपािकेलेखककेनामबताएाँ। 
(a) रामचांद्रशुक्ल 
(b) लशिप्रसादलसांह 
(c) प्रयागशुक्ल 
(d) विजयतेंदलुकर। 

 
2. खानपानकीसांस्कृततमेंबडाबदलािकबसेआया? 
(a) पााँच-सातिर्षोंमें 
(b) आि-दसिर्षोंमें 



(c) दस-पांद्रहिर्षोंमें 
(d) पांद्रह-बीसिर्षोंमें 

3. युिापीढीइनमेंसेककसकेबारेमेंबहुतअधधकजानतीहै? 
(a) स्र्थानीयव्यांजन 
(b) नएव्यांजन 
(c) खानपानकीसांस्कृतत 
(d) इनमेंसेकोईनहीां।

 

 
4. ढाबासांस्कृततकहााँतकफैलचुकीहै? 
(a) दक्षक्षणभारत 
(b) उत्तरभारततक 
(c) पूरेदेशमें 
(d) कहीांनहीां।

 

5. पाि-भाजीककसप्राांतकास्र्थानीयव्यांजनहै? 
(a) राजस्र्थान 
(b) महाराटर 
(c) गुजरात 
(d) मध्यप्रदेश।

 

 
6. ककसीस्र्थानकाखान-पानलभन्नक्योंहोताहै? 
(a) मौसमकेअनुसार, लमलनेिालेखाद्यपदार्थत 
(b) रुधचकेआधारपर 
(c) आसानीसेिस्तुओांकीउपलब्धता 
(d) उपयुतक्तसभी

 



 
7. इनमेंसेककसेफास्िफूडकेनामसेजानाजाताहै। 
(a) सेि 
(b) रोिी 
(c) दाल 
(d) बगतर 

बांबईकीपाि-भाजीऔरठदपलीकेछोले-कुलचोंकीदतुनयापहलेकीतुलनामेंबडीजरूरहै, 
परअन्यस्र्थानीयव्यांजनोंकीदतुनयामेंछोिीहुईहै। जानकारयेभीबतातेहैंककमरु्थराकेपेडोंऔरआगराकेपेिे-
नमकीनमेंअबिहबातकहााँरही! यानीजोचीजेंबचीभीहुईहैं, उनकीगुणित्तामेंफ़कत पडाहै। 
कफरमौसमऔरऋतुओांकेअनुसारफलों-खाद्यान्नोंसेजोव्यांजनऔरपकिानबनाकरतेरे्थ, 
उन्हेंबनानेकीफुरसतभीअबककतनेलोगोंकोरहगईहै। 
अबगृठहणणयोंयाकामकाजीमठहलाओांकेललएखरबूजकेबीचसुखाना-
छीलनाऔरकफरउनसेव्यांजनतैयारकरनासचमुचदसु्साध्यहै? 

1. िस्तुओांकीगुणित्तामेंक्याऔरकैसेफ़कत आयाहै? 

2. आजकीगठृहणणयोंऔरकामकाजीमठहलाओांकेललएक्यादसु्साध्यहै? 

3. मौसमीफलोंऔरखाद्यानोंसेबनाएजानेिालेकईव्यांजनअबनहीांबनाएजातेहैं, क्यों? 
 

4. स्र्थानीयव्यांजनोंकीदतुनयासीलमतहोतीजारहीहै? इसकेक्याकारणहैं ?

 

5. इसगद्याांशकेमाध्यमसेलेखकक्याकहनाचाहतेहैंऔरक्यों? 

 

पत्रलेखन 

आपकेजन्मठदनपरआपकेमामाजीनेआपकोएकसुांदरउपहारभेजाहै। 
इसउपहारकेललएधन्यिादएिांकृतज्ञताकेललएपत्रललणखए | ( 5) 



MATHS 

( COMPARING QUANTITIES)(CONTINUED) 

GENERAL OBJECTIVES 

 

1.Students will be able to find out the profit % and loss% of any item. 

2.Students will be able to find out the amount and the interest. 

 

Cost Price: The buying price of an item is known as its cost price written in short as CP. 

Selling Price: The price at which we sell an item is known as the selling price or in short SP. 

Naturally, it is better if we sell the item at a higher price than our buying price. 

Profit or Loss: We can decide whether the sale was profitable or not depending on the CP and 

SP. 

If CP < SP then we have gained some amount, that is, we made a profit, profit = SP – CP 

If CP = SP then we are in a no profit no loss situation 

If CP > SP then we have lost some amount, Loss = CP – SP. 

The profit or loss we find can be converted to a percentage. It is always calculated on the CP. 

Charge has given on Borrowed Money or Simple Interest 

Principal: The money borrowed is known as sum borrowed or principal. 

Interest: We have to pay some extra money (or charge) to the bank for the money being used by 

us for some time. This is known as interest. 

Amount: We can find the amount we have to pay at the end of the year by adding the above two. 

That is. 

Amount = Principal + Interest = P + I 

Profit % = Profit / CP × 100 

Loss % = Loss / CP × 100 

 
                                      WORKSHEET 

Q1.Find the ratio of: 

(a) 5 km to 400 m 

(b) 2 hours to 160 minutes 

Q2.State whether the following ratios are equivalent or not? 

(a) 2 : 3 and 4 : 5 



(b) 1 : 3 and 2 : 6 

Q3.Compare the following ratios: 

3 : 4, 5 : 6 and 3 : 8 

Q4.State whether the following ratios are proportional or not: 

(i) 20 : 45 and 4 : 9 

(ii) 9 : 27 and 33 : 11 

Q5.Find the mean proportional between 9 and 16. 

Q6.Find: 

(i) 36% of 400 

(ii) 16   2 / 3% of 32 

 

Q7.What per cent of 40 kg is 440 g? 

Q8.Convert each of the following into the decimal form: 

(а) 25.2% 

(b) 0.15% 

(c) 25% 

 

Q9.What per cent of 

(a) 64 is 148.48? 

(b) 75 is 1225? 

 

Q10.A machine costs ₹ 7500. Its value decreases by 5% every year due to usage. What will be its 

price after one year? 

Q11.What sum of money lent out at 12 per cent p.a. simple interest would produce ₹ 9000 as 

interest in 2 years?. 

Q12.Rashmi obtains 480 marks out of 600. Rajan obtains 560 marks out of 700. Whose 

performance is better? 

 

Q13.₹ 9000 becomes ₹ 18000 at simple interest in 8 years. Find the rate per cent per annum. 

 

Q14.The cost of an object is increased by 12%. If the current cost is ₹ 896, what was its original 

cost 

REAL LIFE EXAMPLES 

Q15.Radhika borrowed ₹ 12000 from her friends. Out of which ₹ 4000 were borrowed at 18% 

and the remaining at 15% rate of interest per annum. What is the total interest after 3 years?  

Q16.Bhavya earns ₹ 50,000 per month and spends 80% of it. Due to pay revision, her monthly 

income increases by 20% but due to price rise, she has to spend 20% more. Find her new 

savings. 

HOTS 



 

Q17.The simple interest on a certain sum at 5% per annum for 3 years and 4 years differ by ₹ 82. 

Find the sum. 

Q18.Rajan’s monthly income is 20% more than the monthly income of Sarita. What per cent of 

Sarita’s income is less than Rajan’s monthly income? 

 
 

SCIENCE 

 

CHAPTER- 14   Electric Current and Its Effects 

Objectives: 

• To understand the magnetic effects of electric current. 

• To learn about the working of an electric bell 

• T know the applications of magnetic effect of electric current 

 

Magnetic Effect of Electric Current 

• When electric current flows through a current carrying conductor, it produces a magnetic 

field around it. This can be seen with the help of a magnetic needle, which shows 

deflection. The more the current, the higher the deflection. 

• If the direction of current in the circuit is reversed, the direction of deflection of the 

magnetic needle is also reversed. 

The magnetic needle experiences deflection only if there is an electric current flowing through 

the wire. 

Electromagnets 

• An electromagnet is an artificial magnet, which produces a magnetic field around a 

conductor due to the passage of electric current through it. 

• This magnetic field disappears when there is no current flowing through the conductor. 

• There are differences between electromagnets and permanent magnets. 

Difference between electromagnets and permanent magnets 

• Permanent magnets maintain their magnetism for long periods of time 

• Electromagnets have their own magnetic field as long as current is flowing through them. 

Once the circuit is broken, they lose their magnetism. 

Applications of electromagnet: 

Electromagnets have a variety of applications in industries and in our daily life. Some of the 

these are listed below: 

• In electric cranes to lift scrap iron 

• As armature of electric motors 

• In electronic devices such a television, radio and tape recorder 



• In electric bells 

• In CT/ MRI scanning for medical diagnosis. 

Electric bell 

• An electric bell consists of an electromagnet. The switch we press is used to make the 

circuit complete. 

• The working of the bell is illustrated below When the switch (K) is pressed, current flows 

through the circuit 

• The electromagnet (E) is powered and generates a magnetic field that attracts the iron 

strip towards it 

• The striker strikes the gong or bell (B). 

• When the striking arm (A) strikes the gong, the contact at (T) is broken and current stops 

flowing through the circuit 

• This causes the electromagnet to lose its magnetic field 

• The connected spring arm returns the striker to its original rest position 

• The contact is restored and current flows through the circuit (provided the main switch is 

still pressed) 

• The process is repeated again until the switch (K) is made open. 

•  
 

ASSIGNMENT: 

1. Electromagnets are used in 

a) Electric motor 

b) Separation of iron ores from the earthly substances 

c) Both a and b. 

d) None of the above  

 

2. The circuit is incomplete when the switch is 

a. ON 

b. Closed 

c. Off 

d. All of the above 

 

3. Which wire is used to make electric iron? 

a. Nichrome wire 

b. Tungsten 



c. Green wire. 

d. Silver 

 

4. The magnetic effect of electric current was first observed by 

a. Daniel Christian 

b. Rutherford 

c. Henry Christian Oersted 

d. Einstein 

 

4. Full form of MCB is 

a. Miniature circuit-breaker 

b. Miniature circuit builder 

c. Minimum circuit breaker 

d. Minimum circuit builder 

 

5. Name any two effects of electric current? 

6. When the current is switched on through a wire, a compass needle kept nearby gets 

deflected from its north-south position. Explain. 

7. Will the compass needle show deflection when the switch in the circuit shown by 

following figure is closed? 

 

 
 

8. Do you think an electromagnet can be used for separating plastic bags from a garbage heap? 

Explain. 

ACTIVITY; 

These days Miniature circuit breakers (MCBs) are increasingly being used in place of 

fuses.. Research about the advantage of MCB over electric fuse and discuss in class. 

 

 

 

 

SOCIAL STUDIES 

 

The Mughal Empire 

Video Link : - https://www.youtube.com/watch?v=7fr7k7H0rqA 

https://www.youtube.com/watch?v=7fr7k7H0rqA


Objectives 

 

• trace the political history of the 16th and 17th centuries 

• understand the impact of an imperial administration at the local and regional levels 

• illustrate how the Akbarnama and the Ain-i-Akbari are used to reconstruct history 

Overview 

 

• The Mughals were descendants of Genghis Khan and Timur the Lame. 

• The founder of the empire was Babur, and the last great Mughal emperor was Aurangzeb. 

• AbulFazl wrote the Akbar Nama and Ain-i-Akbari, books on Akbar and his 

administration. 

• Mansabdars were Mughal government officials with mansabs (land/authority) and were 

paid according to their zat (rank). 

• Todar Mal, Akbar's revenue minister, introduced the tax revenue system called zabt that 

was used all over the Mughal Empire. 

• There were frequent fights among Mughal princes for the title and power of the emperor. 

The Mughals 

 

• The Mughals descended from two great lineages; maternally, they descended from the 

house of Mongol emperor Genghis Khan, and paternally from the Turco-

Mongol emperor Timur. 

• Although they were known as Mughals because of their Mongolian descent, they did 

not like being referred to as Mughals because the name of the Mongols has 

been marred by massacres and bloodshed. 

• Because the word Mughal was connected with Mongols and Genghis Khan who 

killed many people, the Mughals did not like being called that. 

• But the Mughals were very proud of their Timurid 

ancestry because Timur had captured Delhi in 1398. 

Mughal Emperors 

 

Babur 

• Babur ascended the throne of Ferghana in 1494 when he was only 12 years old. But he 

soon fled because of the invasion of the Uzbegs. 

• He captured Kabul in 1504 and took over Delhi in 1526 by defeating Ibrahim 

Lodi at Panipat. 



Humayun 

• Humayun became king after Babur, but internal problems and his defeat to Sher 

Khan at Chausa and Kanauj forced him to flee to Iran where he received the help of 

the Safavid Shah and recaptured Delhi in 1555. 

• But he died soon after, in an accident at his palace. 

Akbar 

• He was 13 years old when he became the king. And as he attained full power 

he relieved his regent Bairam Khan of his duties and then began conquests against 

the Suris, the Afghans, the kingdoms of Malwa and Gondwana, and the Sisodiyas. He 

also crushed the revolt of his brother Mirza Hakim and the Uzbegs. 

• He then launched military campaigns in Gujarat, eastern Bihar, West Bengal, 

and Orissa, and suppressed another revolt by Mirza Hakim. 

• Next, he launched campaigns in the north-west where he seized Kandahar from 

the Safavid Shah, and Kashmir and Kabul after the death of Mirza Hakim. 

• He also launched expeditions in the Deccan, and annexed parts of Berar, Khandesh, 

and Ahmednagar. 

• In his final years as emperor he faced a rebellion from his son and future emperor, 

Prince Salim. 

Jahangir 

• He continued the campaigns started by his father, and also won total control over 

the Sisodiyas. 

• But he was also under a lot of pressure due the rebellions by his son, Prince 

Khurram, and by Nur Jahan's attempts to marginalise him. 

Shah Jahan 

• After Shah Jahan took the throne, the Afghan noble Khan Jahan 

Lodi was defeated, campaigns against Ahmednagar began, 

the Bundelas were defeated, and Orchha was seized.  

• But in the north-west, Shah Jahan faced losses as the Balkh region was lost to 

the Uzbegs and the Kandahar region was lost to the Safavids. 

• Finally, in the Deccan, he annexed Ahmednagar and became an ally of the kingdom 

of Bijapur. 

• But in his final years as emperor a battle began between his sons for the throne. 

Aurangzeb 

• Aurangzeb temporarily defeated the Ahoms, the Sikhs, and the Rajputs, and also 

the Maratha chieftain Shivaji. But when Aurangzeb insulted him, Shivaji declared 

himself an independent king at war with the Mughal Empire. 



• Prince Akbar rebelled against Aurangzeb under the guidance of the Deccan 

sultanate, but he lost and fled to Safavid Iran. 

• Aurangzeb then launched campaigns against the Deccan sultanate and annexed 

Bijapur and Golconda. 

• He faced another rebellion by the Sikhs, the Ahoms, the Marathas, the Rajputs, and 

the Jats, and died soon after. 

Mughal Succession 

 

• The Mughals did not follow the system of primogeniture (where the eldest 
son gets the throne). 

• They followed coparcenary inheritance (where the empire is equally 
divided among the sons). 

• But this system resulted in many conflicts and rebellions within the family. 

 

Relations with Other Rulers 

 

• Many Indian rulers started accepting Mughal supremacy, and the Mughals campaigned and 

fought against rulers who did not obey them. 

• The Rajputs married their daughters into Mughal families to get high positions in the Mughal 

Empire. 

• The SisiodiyaRajputs did not accept Mughal supremacy for a long time, but after they were 

defeated they were honourably given their land back and made vassals of the Mughal Empire. 

• This balance, where the Mughals defeated but did not humiliate the enemy helped them extend 

their rule over many parts of India. 

Mansabdars and Jagirdars 

 

• The Mughals enrolled people of all races and religions into government jobs, and they were 

known as mansabdars. 

• Mansabdar means a man with a mansab (a position or rank), and mansabdari was a grading 

system to decide the rank, salary and military responsibilities of government officials. 

• The rank and salary of a mansabdar were fixed according to a numerical value called zat. So 

the higher the zat of a mansabdar is, the higher is his position in the court. 

• Mansabdars received specific numbers of sawars or cavalry men who were registered by the 

government, branded horses, and salaries for the sawars. 

• Mansabdars received salaries as revenue assignments called jagirs. And unlike 

muqtis, all mansabdars did not reside in their own jagirs but used servants to collect revenues 

there while they themselves served in another part of the empire. 



• During Akbar's rule, a mansabdar's salary was roughly equal to the revenue the Mughal Empire 

got from his jagir. 

• But this changed during Aurangzeb. As the number of mansabdars increased and the number of 

jagirs decreased, there was more land revenue. 

Zabt and Zamindars 

 

• The main source of income of the Mughal Empire was tax on farm produce, and peasants paid 

taxes to headmen or local chieftains. 

• The Mughals called all middle-men zamindars (landlords), and assigned to them the 

task of collecting taxes. 

• Akbar's revenue minister Todar Mal carried out a survey of crop yields, prices, and areas 

cultivated for a 10-year period, and then fixed taxes on each crop. 

• Each province was divided into revenue circles with its own rates of revenue for each crop and 

this revenue system was known as zabt. And it was prevalent in areas where Mughals could 

survey the land and keep regular accounts. 

• The Mughal administrators exploited the peasants, and this started revolts which picked up 

speed later, in the end of the 17th century. 

Akbar's Policies 

 

• Akbar's courtier AbulFazl wrote two books on Akbar and his administration: The Akbar 

Nama and the Ain-i-Akbari. 

• In these books, he describes that the empire was divided into subas governed by 

a subadar who carried out military and administrative functions. 

• Each province had a diwan (financial officer), bakshis (military paymasters), sadr (minister for 

religion and charity), faujdars (military commanders), and kotwals (town policemen). 

• In 1570, Akbar started religious discussions in the ibadatkhana at FatehpurSikri where he invited 

ulama (learned religious men) such as Brahmans, Catholic priests, Zoroastrian priests, etc. 

• Akbar's interaction with different faiths made him realise that religious scholars who emphasise 

rituals and dogmas are bigots. 

• This eventually led to his idea of sulh-i-kul or universal peace and tolerance towards all 

religions. 

Mughals in The 17th Century 

• Mansabdars gained a lot of power and became highly corrupt under the rule of the later 

Mughal kings. 

• The Mughals and their mansabdars spent a lot on 

salaries and goods which benefited the artisans and peasantry, but the large scale of revenue 

collection left very little for the artisans and peasantry in terms of savings. 

• As the Mughal power declined, their servants slowly emerged as centres of power and money. 



• They created new provinces such as Hyderabad and Awadh, but in theory they still 

considered the king in Delhi as their master and emperor. 

WORKSHEET– 1 

Very Short Answer Questions 

1. Why was it a difficult task for rulers of the Middle Ages to rule the Indian 

subcontinent?  (1) 

2. Who was Genghis Khan?         (1) 

3. Name the founder of the Mughal Empire.      (1) 

4. Name the battlefield where Ibrahim Lodi was defeated by Babur?   (1) 

5. What forced Humayun to flee to Iran?       (1) 

6. What do you mean by the rule of primogeniture?     (1) 

7. What was the Timurid custom of coparcenary inheritance?    (1) 

 

 True/False 

                          i.        Babur used canons effectively in the first battle of Panipat. 

                         ii.        Babur defeated Ibrahim Lodi in 1530. 

                        iii.        In Iran Humayun received help from the Safavid Shah.  

                        iv.        Akbar was 33 years old when he became emperor. 

 

 

WORKSHEET – 2 

1. Match the following: 

mansab                         –  Marwar 

Mongol                         –  governor 

Sisodiya Rajput         –  Uzbeg 

Rathor Rajput           –  Mewar 

Nur Jahan                   –  rank 

subadar                       –  Jahangir 

2. Fill in the blanks: 

1. The capital of Mirza Hakim, Akbar’s half-bro: her, was ………………… 
2. The five Deccan Sultanate were Berar, Khandesh, Ahmadnagar, 
3. If zat determined a mansabdar’s rank and salary, sewer indicated his……………………… 



4. Abul Faze, Akbar’s friend and counsellor, helped him frame the idea of …………. so that 
he could govern a society composed of many religions, cultures, and castes. 

Answer the following questions: - 

1) Name any two central provinces under the control of the Mughals.    (1) 

2) What were the relationships between the mansabdar and the jagir?   (4) 

3) What was the role of the zamindar in Mughal administration?    (3) 

4) Why did the Mughals emphasise their Timurid and not their Mongol descent?  (1) 

5) Who were mansabdars? What were their responsibilities?     (5) 

6) Describe Akbar’s administrative policies in details.      (5) 

7) Explain TodarMal’s revenue system- zabt.       (3) 

 

ACTIVITY 

Make a detailed research about the administrative policies of Akbar. 

 

 

 

विषय - संस्कृत 

पुनरािवृि (पाठ -6, 8,11) 

Link-

https://youtu.be/ThfzBgOhDY,https://youtu.be/9gJVpJCGAXYhttps://youtu.be/HnUdzTPUrv
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मनुष्य के शरीर में रहने िाला आलस्य ही मनुष्य का सबसे महान शतु्र होता है, तथा पररश्रम 
जैसा कोई ममत्र नहीं होता, क्योंकक पररश्रम करने िाला व्यक्क्त कभी दखुी नहीं होता, जबकक 
आलस्य करने िाला व्यक्क्त सदैि दखुी रहता है। 

https://youtu.be/ThfzBgOhDY
https://youtu.be/9gJVpJCGAXY
https://youtu.be/HnUdzTPUrv4
https://youtu.be/HnUdzTPUrv4
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